World STEM

vEX EXP Real

getStarted.vex.com

Electronics

O &6 @6 6

Home
EID

Drive >

6 @ 6B &

3-Wire Extension Cable (6" (2x)

é 200mm Smart Cable (3x)

300mm Smart Cable (2x)

EXP Robot Battery Li-lon 2500 mAh (1x)

V5 Smart Motor (5.5W) (5x)

—%

Short Flange (2x)

EXP Robot Brain (1x)

USB Cable (A-C, 2m) (1x)

EXP Controller (1x) Optical Sensor (1x) Distance Sensor (1x)

Motion

[ ]

8" Shaft (2x)

[ ]

5" Shaft (2x)

[ 1 8T Sprocket, 6P (6x)

4" Shaft (4x) 16T Sprocket, 6P (4x)

' ' B O O 24T Sprocket, 6P 43
3" Shaft (2x) procket, X)

High Strength Shaft Adapter High Strength Shaft Adapter
E I (1/8" Square Bore, 1/2" Long) (20x)  (#8 Round Bore, 1/2" Long) (10x)
2.5" Capped Shaft (2x)

600mm Smart Cable (2x) Bumper Switch 6N (2x)

1x5 Crank Arm with 23T Gear (4x) 1x4 Plastic Linkage Beam (4x)

N\ (

~

Rack Gear (4x)

2.5" Shaft (2x) ﬁ
2 Shaft (4x) 12T High Strength Gear (4x)
24T High Strength Gear (2x)
W n n H 36T High Strength Gear (4x)
48T High Strength Gear (2x)
Tank Tread Link (50x) Chain Link (200x) Traction Link (15x) Short Intake Flap (12x) Medium Intake Flap (10x) Long Intake Flap (10x) 60T High Strength Gear (2x)
\\
Structu re & Hardwa re
DDOOODD (boooooooo0o00000O0 o) CICAENE)
1x1 at Beam (4x Wheel Hub 32.2mm (4x)
0000 e (e i = e leon e
o Fla%eam (2\)0 A > D D D < rapezol roa rea X
00000000 (boooooooooool (58P0
1x12 Flat Beam (2x) > D D D <
U 0 0O 0 0 0 0 O 0 0 0O 0O
2x8 Fla%eam (2x) ™ ™ ™ ™ ™ > D D D D D D D <
000000000000 (booooooag) »o oo«
DDDDDDDDDDDDDDDDDDDDDDD e L HH S
Wheel Hub 48.5mm (4x)
P P P P A A A >DDDDDDD< 2.75" Balloon Tire
2x12 Flat Beam (2x) S D D D ¢ (Trapezoid Offroad Tread) (4x)
000 0000000000000 [D 0 O D] ot o U
0 0000000000000 0d e (555 S
0 0000000000000 0oa0 >DDDDDDD<
2x1 6 FQ Beam/(\2x) 7\ 7\ 7\ 7\ 7\ 7\ 7\ 7\ 7\ 7\ 7\ 7\ 7\ D D D D
_ > - O . U - O - <
- (] - 0] - (] - > O O O <
0O 0O O O O 0 O 0O
1x2x1x4 C-Channel (4x) — G D D D D D > D D D D D D D <
00000000 oo od ‘00 o0
D D D D D D D D D D D D D D D > D D D [:] D D D D D D D < > D D D D D D D < > 2§m(r?|68:e"c?u-gr?;lle\ll)\/ﬁggl SZTUC 3.25" (260mm Travel) Anti-Static Wheel (2x)
A \L N\ N\ N\ J/
1x2x1x8 C-Channel (4x) N - ] - 0 m 0 - 0 m 0 - < 4x16 Flat Plate (2x) i )
< < 0 00000  Tools & Accessorie
DDDDDDDDDDDDDDDDDDDDDDD 1 0.0.0.0
000000000000 ‘0-0-0-0 0 0 0 0 0 O S
& & > O O O <

PXxIx12 C-Channel (6 EXP Robot Brain Mounting Bracket (1x) D D D D Open End Wrench (2
<7 < < )50 I I I I B [ -
O 0 0 0004040000t oooqood 0O O O 0O 4" Zip Tie (1004
O 0 0 000000044000 d S O O 0O < N R R
0 oo0oo,0000,0000,0000 O O O O >D o o o U D T15 Star Drive Key (2
1x2x1x16 C-Channel (6x) A 4x4 Flat IID\Iate (2):) D

<

@ ” #8 0.032" Thick Washer (100x) ‘ h 0 0
E 1 Post Standoff Retainer (20x) Shaft Collar Retainer 4 Post Standoff Retainer (10x) D D
@ #8-32 Low ProfileNut (200x)

with Bearing Flat (10x)

N ¢ #64 Rubber Band (20x)
( ) Star Drive Screw 8-32 x 1.500" (25x) o n o O
1 Post Standoff Retaine Low Profile Bearing Flat (10x) Rubber Shaft Collar (50x) ] ’ S
I r Ow Froftile bearing Fla X u er a ollar X
( ) Star Drive Screw 8-32 x 1.000" (25x) with Bearing Flat (10x) N ¢ N U A~ U A~ o o u
) 6x6 PET Sheet (4x)
(:ﬂ Star Drive Screw 8-32 x 0.375" (50x) <> > - < N N \% \% \ \ "% "% " " "%
O —~ 0000000000 Oo0OaO
(I:U Star Drive Screw 8-32 x 0.250" Locking (50x) Q Q <> Sl
N, v v v VY 000000000000
o J OO o J O o OJ O J O OCJ P N N N Y N Y N N Y\
/\ /\ \ \ N\ ™\ \ "\ ™\ ™\ 2x12 PET Sheet (4x)
@ 30 Degree Flat Gusset (4x) 45 Degree Flat Gusset (4x) 60 Degree Flat Gusset (4x) 90 Degree Flat Gusset (4x) y Y N N N N " " " " " " N
Standoff 2.00" (8x)
e ’ . 0O 00400000 goggg oo
® > <
Standoff 1.00" (8x)
U U
© .. > <
Standoff 0.50" (10x)
U U
> <
30° 900
. ------------ l-_" ! D D
u #8 Click-On Spacer 0.250" (10x) v—\ —— v—V " v\ T\ > <
J ] ] OO (] ] Od ) O (] O] U O
& 1 [ 00 | OO 00| OO 0n| O O O \ <
J ] O] OO (] ] Od ) O ] O O 0 0 g oo ogogouod
I\ I\ VaN VaN I\ I\ VaN VaN N\ N\ "\ "\ L /" \L /" \L /" \L /" \L /" \L /" \L /" \L /" \L /" \L /" \L /" \L
u I #8 Click-On Spacer 0.063" (20x) 30 Degree Bent Gusset (2x) 45 Degree Bent Gusset (2x) 60 Degree Bent Gusset (2x) 90 Degree Bent Gusset (2x) 6x12 PET Sheet (4x)
/L J

VEX and VEX Robotics are trademarks or service marks of Innovation First International, Inc. Copyright © 2002-2022. All Rights Reserved. VEX Robotics, Inc. is a subsidiary of Innovation First International, Inc.



